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VRAAG 1
A
XAL
1.1 )
m= yz B yl
=% v substitution/
—E substitusie
2-0
-1 v’ answer/antw
2
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12 3
M(&+&.m+wj
2 2
B (x+2_1+ yj
2 12 et ons)
<42 Lty setting equations
270 =1 _ )
2 vergelykings opstel
X=-2 y=5 v x=-2
A(-2:5
(-2:5) e
1.3 )
m:E:l
—3-0 v m=1
y=mx+c (0;3)
y=x+3
v' answer/ antw
14 )
Mye XMyg =—1x1 v —1Ixl=-1
=-1
.AC 1L MB
15 )
tand=m
tan MDO =1 v tanMDO =1
MDO =tan™(1
O=tan () v" answer/ antw
= 45°
16 | y=x+3 B(-4;q) @4 | v q=-4+3
q=-4+3 v q=-1
=-1
B(—4;—1)
d=y0%=%) +(y,- ¥, )
\/( ? Xi) ( ? 1) v substitution/ substitusie
BC = (~4-2) +(-1-1)
=40 v’ answer/ antw
=210
[14]
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VRAAG 2
4>
Q(#;2)
X
v
211 2
r’=x>+y> P(-4;,-3)
~(-4)'+ ()
SXEry? =25 v answer/antw
212 )
x*+y?=25  Q(k;2)
k2 4922 — 25 v’ substitution/substitusie
k=25-4
—J21 or 458 v answer/antw
4
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2.1.3
@ | y=mx+c (0;0) Q(\/ﬁ:Z)

2

v'answer/antw

213

O | (~2-2)

2

vV answer/antw

v x=-21
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2.1.4 (4)
-3-0
mrad = _4 _ 0
_3 3
4 VoM, =—
ra 4
My X Mpyq = -1
Mgy (%j =-1
4 4
Mean __g 4 M, __g
y=mx+c
3= 4 4
3=—5(4)+c  substitutiony substitusie
C= 16 3
3
__5
3
_ 4.2 v’ answer/antw
3 3
22 3
2 2
X_ + y_ — 1
25 16 Refer to sketch
y —intercepts x=0 Verwys na skets
2
Y
16
y2 =16 v’ shape/ vorm
y==4 v’ X— intercepts/afsnitte
X —intercepts y=0
X2
25 1 v'y— intercepts/afsnitte
x? =25
X=15
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VRAAG 3
VA
v
31 )
X’ +y?=r> [Pyth]
t>+82=17° v’ substitution/ substitusie
t=+172 -8
=15 v' answer/ Antw
32 )
cos(180°+ )
=—CO0S« v —CcoSa
= _E v" answer/ antw
17
33 )
8 8
t - v 2
an o s 15
=tan (Ej
15 . —
_28.07° answer/ an
[6]
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VRAAG 4
41 (6)
sin(—6)cos(6+180°)—cos(90°+0)
sin(540°-6) v’ —sing
:(—sine)(—cosﬁ)—(—sinﬁ) v —cosd
sin@ _
_sin@cosd +sind v —sin@
siné v sinH
_sinH(cosH+1)
= sing v’common factor/gemene fakt
=c0s6+1 v’ answer / antw
4.2 )
sin(—6)cos (6 +180°)—cos(90°+0)
sin(540°-0)
=cosfd+1 @=60°
=c0560°+1 1
1 v’ €0s60°=—
2
3 v answer/ antw
=— or 15
2
43 ©)
LHS=————tan’ 0
cos” @ .
B 1 _Sin20 v SII’IZH
cos’d cos’o cos™ ¢
_1-sin’0 , 1-sin’0
C0829 Coszg
cos’ 6
- v 2
02 0 cos“ 0
=1
.. LHS=RHS
9
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44 )
2c0s20°sin120°sin 200°
sin110°sin 340°
2¢0s20°sin (180°—60°)sin (180° + 20°) )
= - - v" sin60°
sin(90°+20°)sin (360° - 20°)
_ (2¢0320°)(sin60°)(—sin 20°) Y —sin20°
- (cos20°)(—sin 20°) v’ c0s20°
=2sin60° v —sin20°
(3
2 v
answer/antw
_ 3
[16]
VRAAG5
51
}-— / /f
£ 135 /u 175 2 315 0
5.1 () | v x- intercepts /afsnitte
Refer to sketch above / verwys na skets hierbo v minT. P/ Dpt
v maxT.P/Dpt
10
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5.2 @
a=1 v" answer/ antw
5.3 @
(@ Period of / periode van f : 180° v answer/ antw
5.3 1)
®) | period of periode van g 360° _ 1g0¢ v' answer/ antw
54 | Domain of / Definisieversameling van 2
f: xe[0°;360°] x#90° x = 270° v'v" answer / antw
OR/OF
0°< X <90°% 90°< x <270° 270°< x < 360° v'v" answer/ antw
5.5 (2) | v answer/ antw
X = 45°;135° v' answer/ antw
5.6 @) |v 270°<x
270° < x < 315° v X< 315°
[12]
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R i
Vg 8 __\‘\
7 L )
7 b \:\ A A% A
.\":‘6 3'A , A
/ : SARRINN

The Louvre in Paris, France

6.1 @
AEG =26° v answer/antw
6.2 €))
AE  AG
sin90°  sin 26° v sine rule / sin-reél
AE - 3sin90°
= sin 26° v’ substitution/ substitusie
=6,84 m v’ answer/ antw
6.3 @
EG  AG
sin64°  sin 26° v sine rule/ sin-reél
3sin64°
G=—
sin 26°
=6,15m v 6,15m
EF?+FG2=EG? [Pyth]
EF2+32 = 6,152
- EF=4/6,152-3 v substitution/substitusie
=5,37m v’ answer/answ
OR/OF
12
v et oo | WRTH R HRRIE VY RV YRR A VATV AL VL AL 4 1
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EG? = AG? + AE? — 2.AG.AE.cos 64°
=32 46,842 —2x3x6,84 % COS 64°

v’ cosine rule/cos-reél
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=37,7948.........
. EG=6,15m
v 6,15m
OR
EG2+AG2=AE? [Pyth] ot
agoras

EG®+3*=6,84° yinag
-.EG =./6,84° -3

=6,15m v 6,15m

64 |y= g(area van basis) X h )
1 v~ substitution in correct
V ==(areabase)xh o
3( )X formula/ substitusie in korrekte
1
- §(6x6)(5, 37) formule
v
_ 64, 44m° answer/ antw
1
6.5 Buite — opp = 4 (5 X basis X skuinshoogte) )
. v~ slant height / skuinshoogte
Surface Area = 4(5 x base x slant heightj v substitution/ substitusie
:4(%X6X6’15j v/ answer/ antw
=73,80m°
[13]
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VRAAG 7

C

&o

D
7.1 | Statement (S) / Bewering Reason (R) Rede ® | vS/R
EB = 3units /eenhede Perp bisector of chord v SR
radius loodreg op koord V answer/ antw
OB? =3 + 47 Pythagoras
OB =5units
7.2 | Statement (S)/ Bewering Reason (R) Rede @ |vSR
BD? = ED” + EB® Pythagoras v’ S/R
BD? =9 +3° ED=4+5=9 v’ answer/ antw
BD =310 units/eenhede
[6]
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VRAAG 8
B
Statement (S) Bewering Reason (R)Rede 3
81 oY=0w both radii / albei radii v S/R
' W=0YW = 35° Zs opp equal sides v S/R
e teenoor = sye
XZY=W = 35° Zs insame segment v S/IR
e in dies segment
82 | ¥,=X,=30° tan chord /raaklyn/koord B) | vS/R
XYZ =90° Z insemi-O V' SIR
< v’ answer/ antw
Y, =25°
83 | X,+X,=90° tan L radius /rklynLradius | (2) | v S/R
5(3 —00°—30° = 60° v" answer / antw
ZYW =250+ 350 —ge | Construction /konstruksie
X,=ZYW = 60° Zs insame segment
e in dies segment
84 YW?24+XY?2=XW? XM —90° (3) v SIR
YW? +82 =(2x8,5) diameter = 2xradius
( ) Middellyn = 2 X radius V' S/IR
YW =15 units/ eenhe v answer / antw
[11]
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9.1 | Statement (S) Bewering Reason (R) Rede 8

\/A\/1 - k3:20° tan chord theorem VSvR
raaklyn - koordst

Y,=W, = 20° Zs inthe same segment /SvR
Zeindies. segment

\?2 - k3 —=20° tan chord theorem /SVR
raaklyn-koordstelling

K. =Y. = 20° Zs opp equal sides

22 vSvR

Z e in dies segment

W, =K, = 20° Zs inthe same segment /SYR
Zin dies segment

16
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9.2 | Statement (S)/Bewering Reason (R)/ Rede 3]
KOY+K,+Y, =180° int Zs AKOY binnehoeke v'S/R
KOY =180°—40° =140° v answer/antw
KOY + KWY =180° opp «s of cyclic quad v'SIR
teenoorst <e kvh v" answer/ antw
KOY =180°—40° =140°
93 | T-70° Z atcentre =2x / at @ |vSvR
circumference / by midpt =
2X <« by omtrek
94 | T+W+K =180° Zsum in A binnehoeke som | (5) v'S/IR
K =180°—(40°+70°) = 70° v Calculation
X S berekening
WKO =70°-20°=50° K, =20°
: V'S
Y,=WKO =50° ext /= intopp £
: : v SY' R
buite« = teenoorst binne«
[17]
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20cm E 30cm
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10 Statement (S)/Bewering Reason (R)/ Rede 6 | vS/R
BDEF isaparm pairs of opp sides are // v S/R
pare teenoorst sye is ||
BF=15cm& BD =20cm | opp sides of parm = /SR
teenoorst syev ||™ =
x AE prop theorem, DE // BC
AN ) v’ Xx=13,33cm
BD EC eweredigheidst
=13,33cm
y _EC prop theorem, AB // EF v y=22,5cm
BF AE eweredigheidst
=—x15
y 5 X
=22,5cm
[6]
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VRAAG 11
11.1 4) v’ correct formula
n=3700rev/min Korrekte formule
)
W= v’ substitution/ substitusie
wW=27zn
(3700) Y +60
=27 ——
60 v" answer / antw
_3810z rad.s™ or 387,46rad.s™
112 ©)
r=0,25m v correct formula
v="? Korrekte formule
vV =Wr , e .
_ 387 460,25 substitution/ substitusie
=06,87m.s™ v" answer / antw
OR /OF
v=7Dn
v
_ ﬂ(2x0,25)(3700j correct formula
60 korrekte formule
1852  _ -
=Tm.8 'or 96,87ms™ v’ substitution/ substitusie
v’ answer/ antw
[7]
19
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VRAAG 12
12.1 1)
v=6ms™ v’ answer/ antw
12.2 () | v correct formula
v=wr Korrekte formule
6= W(0, 36) o o
v’ substitution /substitusie
w=16,67rad.s*
v" answer / antw
1231 4)
5= 22" v 2z
3 3
0="
v’ correct formula
sS=rd
2 Korrekte formule
3 v substitution/substitusie
0= 2—” rad
3
v" answer / antw
12.3.2 r2o () | v correct formula
Area of sector = —
2 Korrekte formule
2 272. - - - -
(0-36) 3 v substitution /substitusie
- 2 v’ answer / antw
=0,14m?
20
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124 ®)
d=72cm v/ substitution
x=>50cm substitusie
d=2
) , v’ std fornV std-vorm
4h*—-4dh+x“ =0
4h? —4(72)h+(50)" =0
v
4h? —288h +2500 = 0 quad formula
h? —72h+625=0 Kwadratiese formule
i ~(-72)£J(-72)’ - 4(1)(625) ¥'10,10cm
- 2(1) v 61,90cm
h=36-+/671=10,10cm
H =36++/671=6190cm
[16]
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VRAAG 13
Gautrain
GAUTRAIN
FOR PEOPLE ON THE MOVE
131 ©))

t =35min

v=140km/h

s=?

S

V= T v formula/ formule

140 _ s v substitution/ substitusie
60 35

e 140

"S_EX% v" answer/ antw
=81,67km

13.2.1 )

s=8km

r=9km
;z 59m|n v substitution/ substitusie
S=r0 v’ answer/ antw
8= (9)0

..0=0,89rad

22
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13.2.2 4
We 4 v’ substitution / substitusie
t

5
=0,89+—

60 v 10,68

-1
=10,68rad.s v substitution / substitusie
V=rw y
_ 910,68 answer / antw
=96,12km/h
133 )
Total Costs =41x2x 20 v method / metode
= R1640 v" answer/ antw
[11]
TOTAL/ TOTAAL [150]
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